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29)	For the function:  f(x) = 3x2 + 6x - 24, provide the following information, graph, and label as noted.

	Factor the quadratic in order to get the x-intercepts. 


[image: ]a)  X-intercepts:  ____________________
b)  Line of Symmetry:__________________
c)  Vertex: ____________________
d)  Y-intercept:__________________
e)  Max / Min and Value:  ________________
f)  Stretched, compressed, or neither    (circle one)
g)  Label the intercepts and vertex on the graph























30) For the function:  f(x) = - 2 (x +1)- 3,  provide the following information, graph, and label as noted.
[image: ]

a)  Line of Symmetry:__________________
b)  Vertex: ____________________
c)  Y-intercept:_________________
d)  Other points:  ________________
e)  Max / Min Value:  ____________________

f)  Stretched, compressed, or neither (circle one)



e)  Stretched, compressed, or neither    (circle one)





























31) For the function:  f(x) = ½ (x + 4)(x – 6), provide the following information, graph, and label as noted. 



a) [image: ]X-intercepts:  __________________________



b) Line of Symmetry:  _______________________


c) Vertex:  _____________________________



d) Y-intercept:  ______________________



e) Max / Min Value:  _______________________


f)  Stretched, compressed, or neither   (circle one)





[image: ]32) Solve the following system:  


0. Graphically:

0. [bookmark: _GoBack]Algebraically:
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EXERCISE 20A.2
@ 1 1 For the travel graph given alongside, estimate the average 7 stmee )
TTF 12, Pythagor: speed: 6
P a in the first 4 seconds 5
W 13 Coordinate b in the last 4 scconds .\
2 C""l © in the 8 second interval
i geometry N
[ 14. perimeter, B
ez area, and volume |
[P 15. Trigonometry § tme 5)
I 16. Functions Trsa s 0 Ts
P 17. Quadratic 2 The numbers of surviving beetles per m? of lawn afer s ther %)
e various doses of poison, are shown in the graph alongside. |
a Estimate the rate of beetle deercase when:
™~
P 18. Exponential i the dose increases from 0 to 10 g 30)
irevers the dose increases from 4 to 8 g 20l
¥ 1. Unfamiliar b Deseribe the effeton the raie of bectle decline as the
functions dose goes from 0 to 14 g. 10
[P 20. Differential ) — .
T2 4 6 s 102w
calculus e

[P 21. Applications of

I 0 NSTANTANEOUS RATES OF cHanGE

calculus

‘The speed of a moving object such as a motor car, an acroplane, or a runner, will vary over time. The
speed of the object at a particular instant in time is called its instantancous speed. We examine this
problems concept in the following investigation.

[ Answers
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Algebra2
Review of Unit 2 Test
Solve each equation by completing the square.

1) 2 -8x+15=0 2) - 10k-24=0
3) W2 +20n-19=2 4 P +12x427=-8
5) 0=—6x2+7x+75 6) Tn==2-n"

Simplify. Write the solution in standard form for complex numbers (a + bi)

7 (5+6i)5-4) 8) —5(-7-61) + (6:)(~4 - 7:)

9) (2+7)2+5) 10) (21)(-5 - 79) + 8(~41)

11 (-31) - (59) 12) (—41)+(61)

Solve each equation by factoring.

13) (e+5)2k+3)=0 14) (1+4)n—1)=0

15) n=8n—-12 16) 2a% +6a=36
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17) 21x* +70x=56 18) 74x —139x+25=—x"+x

Solve each equation with the quadratic formula.

19) V2 —5v—14=0 20) 2m*—m—-10=0

21) 8 =—6 22) 6x* —10x=-5

23) 1P -9y +8=r2—4v 24) 32 +4n+9=9n" +8n

Solve each equation by taking square roofs.

25) pP-6=24 26) —5a*=-285

27) 9-2:2=-103 28) 9m?+10=892

Answers to Review of Unit 2 Test (ID: 1)

1 5.3} 2) {12.2} 3) {1.-21} 49 5.7}
25 ) <7+ —7-~a1) 7 -1+50i
5 12,30 g |TIENAL ST N4
(6] 2 B
) 77+6i 9) -39+4i 10) 14-42i 1) -8
12) 2 5 [s5.23) 14) 4.1} 15) 2.6}
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